


CamocTosiTenbHas paborTa.
Pewwn ypaBHeHUA.

@®x-40=45; 35+B=65; 97— C = 25;

.B—12=8; 16 +x=18; 20-c=15



Pewuu 3apgaum.

Bbbino - 25
MaLUUH
Yexanu -5
bbino - 25
MaLUUH
MaLUUH
OcTtanochb - ?m
Yexanos5m.n7
1.)5+7 = 12(M.) - y
yexarno; y
2.) 25 - 12 = 13(M.) OcTanochb - ?Mm

25 - (5+7) =13(m.)






Tec
1. Hanpm cymmy 15 un

4 A.20 B.19

2. Havam pa3HocTb Yncen 20
na A.24 b. 16 C.

3. HemypaBeH KOpeHb YpaBHEHUA X + 12
=19 A.7 b.30 C.

4. Hanay BepHoe peLueHue 3agaum.
B mMarasmH npuBe3nu 13Kr MOpPKOBMU, a
CBeKnbl

Ha 7 KIr MeHblle. CKONbKO cBeKnbl
NPUBeGKM B 5. 7kr C.

YW Fall aoaXY=23V R I




5.CKONMbKO TpeyrosibHUKOB Ha
yepTexe.
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